Lademengenberechnung
Nitrocellulosepulver

Gesamtmenge in
Kaliber TE*/Jahr * |Schuss/TE = |Schuss/Jahr * |Gramm/Patrone |[= |Gramm/Jahr
Gesamtbedarf fur 5 Jahre = kg Gesamtsumme/Jahr:

* TE = Trainingseinheit

Schwarzpulver

Gesamtmenge in
Kaliber TE*/Jahr * |Schuss/TE = |Schuss/Jahr * |Gramm/Patrone |= |Gramm/Jahr
. Gesamtsumme/Jahr:
Gesamtbedarf fur 5 Jahre = kg

* TE = Trainingseinheit



	Kaliber 1: 
	TE /Jahr 1: 
	Schuss /TE 1: 
	Schuss/Jahr 1: 
	Gramm/Patrone 1: 
	Gesamtmenge 1: 
	Kaliber 2: 
	TE /Jahr 2: 
	Schuss /TE 2: 
	Schuss/Jahr 2: 
	Gramm/Patrone 2: 
	Gesamtmenge 2: 
	Kaliber 3: 
	TE /Jahr 3: 
	Schuss /TE 3: 
	Schuss/Jahr 3: 
	Gramm/Patrone 3: 
	Gesamtmenge 3: 
	Kaliber 4: 
	TE /Jahr 4: 
	Schuss /TE 4: 
	Schuss/Jahr 4: 
	Gramm/Patrone 4: 
	Gesamtmenge 4: 
	Kaliber 5: 
	TE /Jahr 5: 
	Schuss /TE 5: 
	Schuss/Jahr 5: 
	Gramm/Patrone 5: 
	Gesamtmenge 5: 
	Kaliber 6: 
	TE /Jahr 6: 
	Schuss /TE 6: 
	Schuss/Jahr 6: 
	Gramm/Patrone 6: 
	Gesamtmenge 6: 
	Kaliber 7: 
	TE /Jahr 7: 
	Schuss /TE 7: 
	Schuss/Jahr 7: 
	Gramm/Patrone 7: 
	Gesamtmenge 7: 
	Kaliber 8: 
	TE /Jahr 8: 
	Schuss /TE 8: 
	Schuss/Jahr 8: 
	Gramm/Patrone 8: 
	Gesamtmenge 8: 
	kg NC: 
	Gesamtsumme NC: 
	Gesamtsumme SP: 
	kg SP: 
	Kaliber 1a: 
	Kaliber 2a: 
	Kaliber 3a: 
	Kaliber 4a: 
	Kaliber 5a: 
	Kaliber 6a: 
	Kaliber 7a: 
	Kaliber 8a: 
	TE /Jahr 1a: 
	TE /Jahr 2a: 
	TE /Jahr 3a: 
	TE /Jahr 4a: 
	TE /Jahr 5a: 
	TE /Jahr 6a: 
	TE /Jahr 7a: 
	TE /Jahr 8a: 
	Schuss /TE 1a: 
	Schuss /TE 2a: 
	Schuss /TE 3a: 
	Schuss /TE 4a: 
	Schuss /TE 5a: 
	Schuss /TE 6a: 
	Schuss /TE 7a: 
	Schuss /TE 8a: 
	Schuss/Jahr 1a: 
	Schuss/Jahr 2a: 
	Schuss/Jahr 3a: 
	Schuss/Jahr 4a: 
	Schuss/Jahr 5a: 
	Schuss/Jahr 6a: 
	Schuss/Jahr 7a: 
	Schuss/Jahr 8a: 
	Gramm/Patrone 1a: 
	Gramm/Patrone 2a: 
	Gramm/Patrone 3a: 
	Gramm/Patrone 4a: 
	Gramm/Patrone 5a: 
	Gramm/Patrone 6a: 
	Gramm/Patrone 7a: 
	Gramm/Patrone 8a: 
	Gesamtmenge 1a: 
	Gesamtmenge 2a: 
	Gesamtmenge 3a: 
	Gesamtmenge 4a: 
	Gesamtmenge 5a: 
	Gesamtmenge 6a: 
	Gesamtmenge 7a: 
	Gesamtmenge 8a: 


